01.

02.

03.

04.

05.

06.

07.

08.

I x2 +px+q=0, x> +qx+8p = 0:qdi4x® + 16

sty 413, 3"eq” @ roots B, —p.a -

2 _ Ox — 36 = 0 FRFANGTEAT A0 FITT T AMF qR
4x3 + 16x° —9x—3a=uﬁwqﬂw@fﬁwﬁwﬁ'ﬂm,pﬁaaqaﬁﬁmﬁcﬁrw|

B_._B+[I= —E-E-=—4 -'-ﬂ.=_'4

4

1st and 2nd eq” @9 Common root — 4

16_4p+q=ﬂ ...... (i);

16—4q+8p=0.....

(ii); Solving (i), (i) = p = 10,q = 24

1+ .|_ +35? -+ oo YPIGe TR AT T

4812
) n(n—-l} «2 _ 3, n(n-1) 2_1 2,2 _ 3:1_5
W‘ﬂ’f.t{ﬁ 1+ - +r0=§ anx=o; —o— X 35— X nx r
. a 3
_ 1____ n-1 9 15 | __E. — n — AN 2 1y z _ E=2\E
ol _E ()'33 16 16 S=(1+x) (1 ) (2) V8

v o = —E%I,‘Et-‘q' sin? 30 + sinZ 40 + sin? 50 + -+ + sin? 150 aq I AT 91

FAYE: &7a A = sin? 15° + sin® 20° + sin? 25° + - + sin® 75°

= (sin®15° + cos? 15°) + (sin® 20° + cos? 20°) + (sin? 25° + cos 25") + (sin% 30° + cos? 30°)
+ (sin? 35° + cos? 35°) + (sin”* 40° + cos? 40°) + sin* 45° = 6 + = =|6.5

q3f6 Jra AT M A Ay = 2 @ (3,2) e =i u‘m (1,4) o o T

YA h=3:k=r+2;r=k-=2

“ (x—3) +(y —K)? = (k — 2)? T (x—3)% +(y—2)% +k(y—2) = 0 ¢f
2224+ (k—4)?% = (k—2)? (1,4) s
1.4 !
~44+k?-8k+ 16 = k? — 4k + 4 '( } (3,2) y=2 k = —4 3f,
L4k=16 ~ k=4 r=2 2 > xX*+y?—6x—8y+21=0

eq”: |[x—3)*+(y—4)7=

a3 B *RIgeea TAwad P T @ AR (4, -3), TGS 0 G 4 93 TR TF, x-S AN
t|(y +3)2 = +4(x - 4)|

Y |4al = 4=>4a =14 - eq"

Y

o

Alternate: (3,2) a7 [93a@ F8H L,

244+4+2k=0=>k=—-4

offl it By e e ol 37 4 Gie™s #iwa vl g 0o 58.8 fiibH wia <[warw wfice R =ie | fArsaid

@R W G492 IF0T FEE Twet [da <4
A4 2R tana. = gT? T =4s
. 2x58.8xtano = 9.8x 4% -~ a = 53.1301°, 5B.8 = f—sinZu R =58.8m
B H =7
ru=245ms! ~H=2 ’;‘:z“ —H =[19.6m u =7
&1 [qee femes 5976 39 P, Q 992 R S5 3jf2 361 P 8 Q #17>F @1% Q 8 R U3 NYIIe! (@14 120° T Q €
R 97 TS 972 o
Sol": — Q_ .R
sin 150° 5in90°
Q 1 120° A4, 90"
.Q_1 P
R i 150°
L Q:R=]1:2 R
x? = 4y *RIq3 W3 x = 2y AT &I Ww et ey 7 Cdy y=>
2
HAAYIA: Area = ‘f (———) dx‘ \j@/,]}
X’ X
[—— roc M B —sq.unit SRS




09. (cosx)” = (siny)* = -Ei: U CREEH T
A (cos x)Y = (sln v*; yln(cus x) = x1In (siny)
Sy,Incosx+y

- (—sinx) = xl—rcnsy vy +Insiny

. __Insiny+ytanx _ dy _ |Insiny+ytanx
}'1011 SESEE Z{CDty) Insin ytytanx .y, = Incosx-xcoty dx |lncosx-xcoty

10. @FF Q0 IR A2 B OFRF oTi6 TAmTa IURF 30%-932 70% 0ol 01 el qerty 2% 3R

5% T0= QD tof I3 a3l @1 gt vt o af Ty | wibef @I B i Cof zewr wreRyet Adm )

TY: P(defectedinB) 70x%5 35
P — I.l- = —
P(defected In n.ll] 30x2+4+70x5 P 41

1. @3 A TR I i 100m1 @3 SroemRe Tom o e 216 km/hr oS I TS W)
SIGISIRIGH0 15 m/sec? G GalA® A NS (AF Bore Tww T $? qmews d A&y IO =

TSRS TUrs ARE?
eV _ 60% 216Xx1000 s—1 —
A S === - = 120m > 100m [Zlﬁkrn/hr = —_——ms 60ms™1]

= 100m runway (= ©f $YTS 0T 51| runway @ T4 length 120m |
*12. 2mm IR GF0 ST ©iF 20°C Wﬁmqﬁﬁ@mmﬁmﬁmwﬁwml I SFi@r 10°C @ T
ST IR ©IRd T T G (I9) Cofd TE, @ T4 (T=ITe8 -3 @oliF = 1.1x1075 |3 oFiod 3R 99
QTEF = 2.1x10"'N/m?).
UMY F = YAaAO = 2.1x10xx(0.001)%x1.1x1075x10 = [72.571N
13. @3 AERe @ {refie @ 48 Setmd oI IE1E 28 100 m @3k 97 Sew@ 105K 1 3w cfiersio

FEol *Fers 1000 m AFE IHS T O 1T FRIRT S F© FI? (SAFE ST SIS, - —E - 1.66).

YA T,V =T,V o Tyr P30 = Tzr“" D . 105x1003(166-1) = T,x10003(166-1) . T, = 1047.12855K
14. 93 ol y = 5 cos xsin 40mﬁw¢wﬁﬂﬁﬁwn 7% 207 CARISTa T =67 T2 T O
fa@E 8 @5 AT F91 9IMA x 9 y UF 9FS 0% cm W32t OF UFF 0% sec |

A4 y = 2asin otcoskx; o = 40n -'-a=-z;= 2.5cm|; k=§; v=L—":=4_E_“= 120 cms™
3

15.  0°C SIom@t 1 kg I[TTCE 100°C SR ~ifHTs «fFde Fare G I Rdw
[€9% o @I = 3.36x10° Jkg ™! G A= ST ©f = 4.2x10%]kg ™1k,

T, _ 1x336000 373

. ac — Ml T2 _ 373 _ -1
AqIYH: AS = T + ms !nTl s + 1x4200xIn - 2541.6171 ]k

16.  2uf 4G RAfFE @36 4TS SIS [ *1 qoib AR ©F vt @bt 51E I& 91 1 4ITE RS 73 R
TRt Ted T30S Y95 21 U2 & ARt 214.3 AR TE, TS (SIS YRFHIE bifere 31 FAMRE?

TYE: Q = U = >CV? 2 214.3x4.2 = 2x2x1076xV? . V = [30001V
17.  4.0x10~8C TMCT TG AR 3 RS TR WYF 6.0 cm YR A @ B e SHES | SIYHGTRS AL 7= (at
AB @7 719 FRHIGTTA &4 4.0 cm FIF p e g 1.0x10-8C wyite 9 fFarie <=1 At T3 [—— =

4“En

9x10°Nm?c~?] ¥
: 3 4 R Alternate: F = — L x qlp = 2£q]
R = 2F cosB = 2x - xF N x;gmc CPRATE T = dneok (12,293 ®
- E:ﬂ: 1 4x10"8x1x10~" 2€ = 6cm
5" 4ngg (0.05)%

A B
=11.728x10~2N ~4%x10*C rm - Jem -4xJ0'C




18. ?rqoaiﬂ a7 fa-foq w1t &nunﬁwmmwwwmﬂmﬂz Omm | I T AIFIE BT

1.33 aﬁﬁm aﬁﬁtwmiﬂw (GRIR IRYH T ?

W ﬂy —_—— ﬂy o A Ix - un ﬁylul — ﬂyle,lz s 2x1l = 1.33?‘6)’2 . ﬂ}fz — 1.5041111‘1‘]
*19. N g ?Fﬁ‘fﬁﬁ’fw 4eV | @ qIgre 1015 Hertz FIHT SR 3 Soifos o T F© e« fra Sraei

ﬁ"‘ﬂ@m ARGA? [h = 6.63x107**Joule — sec] |

o jmul 5 e
6.63x 10~24x1015 e

=3
STE: bf = Kooy + @ & Kooy = [ —4|ev =[014375 ev
20. (I (OWTFY AMICEd TEY 30 T 1 92 F 3 97 $91 O AYY 99 OF ST 1Y M 9T WA TFS
AFE?

"I‘-ﬂT'd‘F[:?;=m—2 l:__[_‘—2—41]{]231 day™? %lni—“=ﬁ xIn8 = 3x30 = |90 days

2

1 (Written)

21.  90.0g ~fATS 20.0g NaOH 93 81.0g ATS 18.25g HCl HRFTSI HIAGS FCA 0 TN U3¢ 2FS T4 11 ©IFH
39 9ot O3 fiES T =) ot et e sjdmee sl 2961 T SIS 10 T AT A
R SR #17 T© AT T AT T W SR 7Y &S EILre Fof #Hif g o Iiige 2@ ©f fdw

B
FIEH: NaOH + HCL = NaCl + H,0
36.5¢ 58.5g lﬂg
ES 2{!g 1825  29.25g 9g

» 29.25g salt| *'\e® MR (divided by 2); Total H,0 = 90 + 81 4+ 9 = 180g = 10mole.
23
-, offs GTrate Aripe uy = 120020 _ 4 67341020 B

3600x10

22. (a) 936 ©fea@d 0.2mol/dm3 T==f@F HCl @3 TN T3 IR FA1 7| 27°C SNy ofoeeby wad Feg

fAdfasa
SYE: E = B, — — In[H*] = 0 — 2222 x1n(0.2) = 0.0415985V

1x96500

(b) HNO; @32 H3PO, O3 4T (1AL SIiE@ =f&iiel ? colTa Saraq qeiidet aurat 1)
TYE: HNO; > H;PO, S99 N Q@9 size P S (ZI0 T ©IT® charge density P 30® @f#

(+5) (+5)
. HNO; Sf¥a Strong.
23. N,0. a3 Raree fiferaa A =ifF 103.05 kjmol ™! @32 0°C @ 25°C Siay [fEFata @ $Ieq TATey
T a1

ka Ea ( 1 1 ) K2 103.05 ( 1 1 )
:Hi“&ﬂq. —_— —_— B — X —
ln T2 ; In 298 273

R Ty k4 B.314x10~3

. k1 = 451006 - ky:k, =|1:45.1006

24, 2FeCl; + SnCl, = 2FeCl, + SnCl, 936 wiga-Rewe [idsn ) wre-Ren ﬁiﬁaﬁﬂaw*riiﬁ WIS AN |
WWWWWHWWWI

3+ 44
Y 2FeCl; + Sn{:lz = 21=ec12 + SnCly ; 2Fe3t 4 Sn?* = 2Fe?* + Sp**

Sn2* — 2e~ = Sn** (&) ; 2Fe’* + 2e~ = 2Fe?* ([REtem)
Here, Sn** leaves two e~ which is immediately taken by Fe3* jon and two Fe3*, taking e~ turm into Fe?*, So, Fe*”
is reduced and Sn®* is oxidized. So, here redox process is present simultaneously.

25.  10g SqwT G35 AT T RS 0 10mg SAT3T *eqT oofe | TAITe e wy e #fif ir?
HAYH: Pure H,0 = 10 — 0.01g = 0.555 mole - molecules of H,0 = 0.555x6.02x1023 = 3.343x10%3 = 9.99g

TR




ST SRR
et S A g g

26.

217.

28.

29.

30.

01.

02.

03.

FRISTN
|:|_'.- =il } ‘r'.
'.l]'-ll' -u,:.
L

25mL 0.1M HCl T39tF 0.1M NaOH B3¢ 91-1 BIRGa sy fAry Srafde fJfey @@ pH 93 919 @3 391

(a) 24.99 mL of NaOH Qi <3G |

« [g+] — (25-24.99)x1073x0.1 , . _ N\
T [HY] = = e Ms PH = —log(H*) = [4.6989

(b) 25.1 mL of NaOH @I 3¢ |
AL [GH"] i (25.1=-25)x10"3x0.1

Zstasao—= M; PH =14 —pOH = 14 +log(0H") =[10.3001623

fAIE Sieiar e 1 atm 1ot yfeeelt fiffis sfaer s Ses 100mL. Sisa SeifRfs @ed 5t 75% T

TR T YR SRS STes Z Tl 65mL T | {Fraiia Siees 397

HATYI: P%:'—" = p;:‘ ; X = Y SeR (mL)=> 1“{1,;' 8 - 1_:.-5?55-:) ;[T =T]
1 1

% (100 — x) = 1.75x(65 — x) - x =[18.3333 mL

GFM 0.204g "D T AR aFe Gge Fa1 211 Beom TR s =if Rigrar F9re 0.0220mol/

dm? K,Cr,0, BT 27.4cm?® ST Ze1 | 0Ie] g Ce1iRia =4l sifawe g a

HAAYMR: Zne = const -~ mole (Fe)x1 = 6x27.4x1073x0.0220 = Wi, = 3.6168 X 10~3 x 55.85

* Wg, = 0.201998g - %Fe = 99,018765%
eq” : 6Fe’t + Cr,0%~ + 14H* = 6Fe®* + 2Cr3* 4 7H,0

B TR SITeifFE ©7 47| @ (ouiErn G o A fRefe 2 aneafa AR ALt a 9 i A

g et o7 92 dite | «fb et @e?

AAIYI: B particle: e~ ; 49X — e = [z_ lﬁ_ﬁgy] = Ay

*. Atomic number Z IS Z + 1 TCATRI .~ AT Hep | mmﬁr\zm same It | (T4

231Th — _Je = 231Pa; 230Ac— _Je= %3Th.....etc
(a) 05 TSR (1 CFGR Y 72 W7

(b) CFIN CACE 05 TSR TAST 1 72T 74?

(c) (BN 4 &R T TS AN HSY?

HATYI: See text book.

B = 2i — 2j + Kk (SBA o) A = 6i + 3j + 2k (SRR WSrH 997

8 3 11
®; ®)3 ©) 3 @
HAYH: (b) ; Projection = -‘;—%—T = |E| cos 0 = Eﬂ'z“”z - ;
fonft =T G2 S MU= T aitd e e 17 6T TR TR-

: v | ©) == (d) —
(a) ®) = —
L)x2 2:6,5,6 = —x~
TIYH: (2) ; Case 1: 6,6, 5 —r(g X= Case 2: 6,5, - SoX=
1\3 1
Case3:5,6,6 —r-;—ﬁx§= E) x3 =

Shortcut: FSRT A = 6,6,5

(a) 1 (b) 2 (c)3 (d)4

w[m*qrq:(a);On]yz,B,dcanfnrmatriangle.['-'1+2=3 1+2<4 1+3=4]. but2+3>4,



04,

05.

06.

07.

08.

09.

10.

11,

12.

13.

14.

P=2-j+2ka® Q= 31—6]—2km‘ﬂﬂﬁ@ﬁﬁ‘lﬁﬂﬁm-

21 -1 B

(a) cos™ %1 (b) cos 1:;1 (c) sin™* = (d) tan™" —~
-1 (FQ _1 [3x2+6-4 ~1(8
T: (0); @ = cos~? (52) = cos™* (22222) = cos™* ()

9T CIFER JPET DT 72 P CFAFCETd I ARIPPFOIE AT ZCA, ClIEFod UFIET T 39

(@) = (b) 8 (c) 4n (d) -

TAY: (d) s 5o = o - 5 (»:mrz):— = 4mx 2r-d—:=§f “Bar=1 ar=—

2 [ sin(2e**)xe*” dx tﬂﬁﬂ'ﬁﬂ-

(a) sin(2e* ) + ¢ (b) 2sin(2e*’) + ¢ (c) cos?(e*') +¢ - (d) sinZ(e*’) + ¢
AT (d) 3y = e 4T,

= [sin2ydy = —mizy+c =-;5-—t:052}’+c=-:—-— 1+sinfy+c=siny+c= sinz(e"z) +c

6o IHE 1,2, ..., 6 9l [HME T ) oS Jit =11 St e 907 QAT A0S A @ F#eE 115 10w SR
FYE I WP IR I I TEeT0 IIHGTE G AP | AL TS ST FiGib 41 AN ©f Z0-

(a) 5 () 6 (c) 60 (d) 21

FAAYH: (d); -~ FCIG CAW = n(1 51 Green) + n (251 (Green) ...+ n (651Green) =6 + 54+ 4 +3+2+1 =21
f(x) = x + = I & @ 798 Rre =i x-STwa ST o 21- - :

@ 1,2),(-1,-2) () (-1,2),(1,0) ©) 2,-1),(0,1) @ (-1,2), (1, -2)

S (2) 5y =x+ 5 y; =0=>1—5=0 ax= 1 y=2,—2;Points: (1,2),(—1,-2).

X-S[%, y- 9%, y = In5 @2 y = Inx IFA Q€ RS CHFIad CRawe (4-

(a) In 4 sq. unit (b) 5 sq. unit (c) 4 sq. unit (d) In 5 sq. unit

TAYF: () ;¥ =Inx ~x=¢eY; Area = j;‘el"d}r = j:"sej’dy = ¢!"5 — ¢ = 5— 1 = 4 5q. unit

x? +y? — 2x — 3 = 0 IFANHT @ 7S e =P x-STFa AT ©f 297-

(@) (=2,£1) (b) (-1, % 2) (c)(1.£2) (d (-1,%+1)

MY () ;2x+ 2yy; —2=0 ~y; = =0(FaMAE) ~x=1;, y= +2 = Point = (1,12)

sin® U9 (¥ TTAIT & 7sech — 3tanb aamwrﬁmwm'?

@3 OF © 5 ()3

FAYF: (d) ; y = 7sec® — 2tan®; y; = 7secO tanf — 3sec’6 = 0

~7tan® = 3secO . tanOxcosb = ; - Sing =%

fo Ty R
(2) 0 (b) m (c) —= (d)3
11
A (b) ; F = ful' - ==lﬂin'1x_:i] =§+E= T
i (2) z lp 2
X7 T FOAF(K) =[5 dt FIRMoa T 7309 T2 |
(2) 3 (b) 4 (c) 5 (d) 25
X—4 |

TG (0) ; F () =0 22 5=0 2x=4
Skg STAF G310 TG MGIFET &I 40m/sec QUL FT5 *19t=1 [ =Afmtet et St 4sec e i ea?

[g = 9.8m / sec?]
(2) 99.0N (b) 99.2N (c) 99.5N (d) 99.4N

STHYA: (2) ; F = m(g +2) = 5x (98+3) =5 (9.8x1+57) = 99N

Y 4




BUET SRS ”"?, %;

15.

16.

17.

18.

19.

¥20.

21.

22.

23.

24.

25.

26.

19.6m/sec mmﬁww%wmmﬂw mwmtﬂﬁ“ﬁt@ ‘PWETE'?I-
(a) Zsec (b) = - Sec (c) 4 sec (d) ;sec
AN () 5 T -——-=-——'=4sec

21cm JFE R ool JoRm oo e 120° s e o aeide e $E @S o F =
@R i i T 1?
(2) 14cm (b) 21cm (c) 7cm (d) 49 cm

TAAYA: () ; 2nr' =s=RO .. 2nr' = 21 x 12;;:2 A =Tem.

(k—x* —2(k+2)x—1=0; (k+ 0) TRFqceI TeT 96 717 20T k @ T+ I-
(a) =5 (b) 5 (c) 0 (d) 2
T (a) ;4(k+2)°+4(k—-4)=0; k2+4k+4+k—-4=0

k?*4+5k=0 ~k=0,-5 butk#0 ~k=-5.

y = (sin™* %)% T (1 - x?)y, — xy;, 93 T 3-

(a) 0 (b) 2 (c) 4 (@ 1

A (b) 5 \/y = sin~1x ; z,j‘ V= J;—xf

(1-x%)yf =4y ; (1 —x*)2y,y, —2x-y =4y, =~ (1—x2)y, —xy; =2
TG I SRR off THRECS WS T TS24 0.8 1 IM ¢ o7 o o217 «fer 51y o3 *1imerea Swere!
@ el (1 [ ¢ FFToR) ABRA T2

(a) 0.56 (b) 0.16 (c) 0.20 (d) 0.65
TG (b) ; p = py + p; = 0.8x0.2x0.8 + 0.2x0.8x0.2 = 0.16.

- = C e n G T T

(a) 3 (b) 5 (c) 7 (d) 8

FAMYE: (c) ; 3718 = 312-2n =7, :
Vi+ V=i 93 T 3-

(a) 2 (b)1 (c)0 (d) V2
St (d); (Vi VEI) =i—i+ 2V =2 «Vi+Vai=+v2Z

M f(x) = x+ 1 992 g(x) = 2x WO (fog™*)(2) @9 T F97?

(a) 2 (b) 3 (©) (1
STE: () ; (fog™1)(2) = f(g1(2)) = £(3) =f(1) =1+1=2

G5 C6 THFIIEI 3.0cm SO A3 A0S ©fF WedF @5 | @fo w7 TR At FAE?

(a) 3.0cm (b) 1.5cm (c) 1.0cm (d) 2.0cm
T (0) 5 (1 —2) Ei P T 3em. -+ 1 B e T 4cm; e A0 = (4 — 3) = Lem
2 3 X
D=1 4 x [=10TFTxGITHTSI-
1 3 1+x
(a) 2 (b) -2 ()1 (d) 5

STAYIR: (d) ; OF I T [T T, —x — 3x+5(x+1) =10 ~x+5=10 ~x=5
10m/sec T BEAT @I (T O G0 AT TFAT (P (TGTR 10sec g TIBTS AT | “ia® @ el

T @A Tl T f&=T? -
(a) 590m (b) 390m (c) 49m (d) 490m

1 — ) —
FRA: (b); h = —vt +-gt* = —10x10 + 4.9x10% = 390m
The resultant of two forces P and 25N acting at a point is 20N, acting at right angle to the direction of P. What is the

value of P?
(a) 10N (b) 20N (c) 25N (d) 15N

Ry s i




PR PR :".
B U ET maﬁ; -_,_'.?-_fl : k.

20
JAYME: (d) ; p? + 202 =25% ~p=15 25 3 [ GTTefer ATATeIes case G W1 1]

27. Waﬁkgwaﬁm%ﬁ%ﬁﬁﬂﬁﬁmwmmﬂwﬁﬁ%ﬁm15km‘~itﬁ"?
(a) 2.5N (b) 9.0N 0 (c) 25.0N (d) 29N
ST (a) ; F = ma = 36x = = 2.5N
28. Ancﬁn—mwmﬁﬁﬁﬁm B, C (o oS 31w STl < 2, 2, P farwere | it & fargrem sl 2,

P Q3 W\ F97

(a) 2 (b)3 (c)6 (d)4

FATYL: (a) ; As resultant passes through the centroid . P, = P, = P; ;Hence P = 2.
29. y— mx, y=m;Xx Ry = bmwaﬁﬁvﬁwmﬁm-

(2) = (m—m,) ®mZ (E-2) (©2b (--7) (d) = (m; —m)
‘WTHFL (b); y

e B
Area = - %’L b

2IE-D) -5 IE-D|-5G-D %
30. SIS SCEE O 8 @R (£2, 0) Boitewan fAfiR wftgres Sarataee! R

(a) 3 (b) OF (d) 2

AqYH:(c);2a=8 ~a=4;ae=2 =~ e=%;ﬁﬁﬁﬁwm"@%ﬁw} 1.
31, gf fagres IRA 9 9,40 Gt 41 fagwivd «ifagres s $97 _

(a) 24.5 (b) 30.0 (c) 205 (d) 25.0

-
41
AAYE: (c) ; 9, 40, 41 are Pythagorian tripod. - Radius of circumcircle= %1 =205 ° r

40
32. q@FERIx = y? @Ry = x — 2 (T 99 VT CFES (FaF Zq-

OF OF OF Ok
STAMYIE: (b) ; Area = ‘_[]f;zﬁ.rz —y— Zjdy‘ = |f-_21(}’2 -y - Z)d};‘ = I—E[ = gs.u
33. it fargrera foaf A4 A5, 12), B(—12,5) €32 C(~=7, 17) o0, ZACB (FIE T+ TH-

@3 ®) ©% @3
AYE: (c) ; AB=c=13v2; BC=a=13; AC=b=13 cnsC=a=+:a_cz=0 % LC= ZACB==
34, adqNE IO 3x+2y—5=0, ax+4y—9 =Dnﬂ'ﬂ{x+2y-?=ﬂﬁﬂrm=ﬁrﬁ‘ﬁ?
(a) =7 (b) 5 (c)3 (d)7
3 2 -5
Y (d);|la 4 —-9|=0; Solving,a=7
1 2 -7
35, nﬂﬁﬁ@y-wwﬁmmt(m)ﬂ(7,n)ﬁ“iﬁmwm|@ﬁaﬁmmm_
(a) (4,£v20) (b) (4, 45) (©) (5,21) (d) (5, +V21)

AMYA: (d);y2 =25—4 ~y= V21 .~ c= (5, +VZ1)

A= Sory Wy dEE!...




) |

36. 4x+3y=c @€ 12x—5y = 2(c+3)caﬂnﬁﬂf|ﬁ={mmr@a‘~&?ncaamm

(a) 14 (b) 12 (c) 8 (d) 10
FAYE: (d) ; g = iz(i;?'] Solving=> ¢ = 10,—%

37. tan20 tan0 = 1 A 0 G T Y3I-
(2)nm + - | (b)nn -2 (c) 2nm += . (d)2nn .t

L

FAYE: (a) ; tand = y = -

v

- 2 21 v= +~

E}r 1; 2y’ =1—y?= 3y -1..}r_iﬁ
s tanf = iﬁﬂ O=nn :l:; Both option (a) and (b).

38. kWATH IO Ay = k(x — 1)(x + 2) IFEAE x = 1 [0S =P x-SCFT AL 60° (I TAF F0I?

(a) & () = ()2 (d) V3
TAqHE: (2) ; k(x°+x—2)=y; y, = k(2x+ 1) = tan60° = kx3 -‘-k=-§=%

39. cos28 = Eiﬁ tan® 9 TqF F?
(@ £7 (b) £2 (©) %3 (d) +-
ST (¢) ; -t 0 _ 24 Solving = tan@ = i%

1+tan?@® 25
40. sec?(tan!2) + sincot™! tancos™x @g TN T3-

(a) x (b)x+5 (c) X2 (d)x2+5
ATIY: (b) ; y = 5 + x [Using calculator for first part].
For the second part, sin & cos™!  get nullified

tan & cot™ get nullified - sincot™ tancos™x = x

sty (MCQ)

41. o Al @R T 2I0dq IPMET TS T0R-

(a) 1:5:3 (b) 1:2:3 (c) 1:4:9 (d) 1:8: 27
MY (c) ; ry:rzir; = 12:2%:32 = 1: 4.9,
42. e Rferar of Sl RefFns crs ey e «fmr- [Ans: a]
(2) 200 MeV (b) 931 MeV (c) 200 eV (d) 200 GeV
43. 315 8 *rwd =nf @1 0 TI-
(a) 0 < 6 < 90° (b) 90° < 0 < 180° (c) ® = 90° (d) 0 = 180°

T (b) ; °IFW FIOCE (SSA T 1 .. 0 Gt
44, ,,Bi?0 (ouiEy R 747 ¢,Po?!0 QNI TR 302 | @aInw RfFrm @ z=-
(a) B — decay (b) o — decay (c) e and p — decay (d) y — decay
AN (2) ; 229Bi — _Je = %33Po ; T B-decay 9 e *muifi® FeyT 3 AT H ¥ o qFR WMF |
45, wﬁwﬁwm SfSeTH @ WSEER @I I A 0.8m € 0.04m T Teife qieq o= 13be

fRa s a?
(a) 0.05 (b) 20.0 (c) 2.0 (d) 200.0
ST (b) ; m = o= = 20
46. +12 92 —2 diopters A7 G2V GETCP TR TS Ater Targety CrIer g 13-
(2) 8.33cm (b) 10.0cm (c) 12.5cm (d) 16.6cm

TAAYE: () ; Pog =12 —2=10 = feq = 0.1m = 10cm.

AT 1 =)
R 77 s ST AT W Huser




s ) @

47, mwwmwmﬁﬁﬁm 3 TR [Ans: c]

(a) zero (b) infinite (c) minimum (d) maximum
48.  4000A Bt T W3 T 0 ST AT WO “AR “AIEFT 2107 m LA, SITTH T0T Wil 241y 3
(a)m (b) 2n (c) 3n/2 (d) n/2
A (a) 3 8 = - ﬂ_, x2x10~7 =x
49. aﬁmﬁmﬁ BT SifSTaTE /3 T ey Rpife Fo7
(a) 45° (b) 60° (c) 37° (d) 30°

5u+5m
Vri_ : iﬂ_'l_ .a_l'[l_ 0 — o ;?_51__ o . —_ o
TYE: (b) ; V3 = — smﬁ: Or, 2 =sin(30°+2) » 0 4+30°=60° ~2=30° = §y=60

50. TS 9 50° TS (FIC ASTHF ©2F iAo A &SR It T+ =9—

(a) 50° (b) 40° (c) 90° (d) 45°
HAAY: (b) ; O, +r=§- AT =90°—50°; r=40°

51.  3CAC->TI0 @it f6a @ TR T 7Pt T30 IH? [Ans: a]
(a) B = z_i ldf:r (b) dB = iﬂ ldr:;na () dE = E 551; (d@)Lo pn mf

52.  TMm 9 fa-foxt Ry, o 25w 9uaSt vimg wde amﬁﬁamﬁﬁa‘ﬁ—ﬁmw (ST WIH IR T
(a) 92 (b) & (c) et (d) Sraed

g . D Ay4 Du'rE: 1 . _
HAYIA: (d) ; Ay < 2= By e s Ay = 4Ay;.

53. I GArY (PR 92T S S (G IS 1m 8 Im, SR HRIBF AL oS TI-

(a) 3:1 (b)1:3 (c)9:1 (d)1:9
A (b) ; As resistances are cqual, L« A % =§ 5;%_— = 3 ; Tilp = 1:3
1 ry
54. a3 Fefte 12V SfCerms 3o age 2 RR 2[R ~fiedem g 40A/s 201 $7 10 o4E 0q-
(a) 0.3H (b) 3.4H (c) 30H [ (d) 480H

AMYE: (a); 12 = Lx40 ~ L= 0.3H

55. 9o (IPheT S 220V — 50Hz AR TRLT Y IS WiTR | IO 9 59 Zra-

(a) 110V (b) 311V (c) 220V (d) 320V
YA (b) ; E, = V2 X Eprc ; E, = v2x220 = 311.1269V. .

56. B TA G5 JET GIFF (T OG- AR FHATAITH @ V 08 5T G375 BT e 97 BofF farariter 357 01—
(a) 3ev (b) 0 (zero) (c) ev/B (d) é /Bv
A4 (b) ; F = evBsin0° = ON

57. 10N 39 &Y GBS 100m TS TS I IS A7 [I97 8 ST TS (el 60°)
(a) 100 joule (b) 1000 joule (c) 500 joule (d) 50 joule
AATYI: (c) ; Fscoso=W .. W=500]

58. O3[b NTH GLILGA FDIF FIF T3-

(2) 1.0 rev/s (b) 0.5 I'E‘-’f S (c) 0.017 rev/s (d) 60.0 rev/s

YA (c) ; w = % = —rads‘1 = —revs ! =0.0167revs™?

59. fmﬂaﬁawmmw PIRTS BT =911 34 ST ifRre i 20 o o Bog «
AT e “ANGT AW | AR GALH B T 20 ST B q0e7 T 2
(a) 8BTS (b)4 T (c)10T? (d) 12 T#
A4 (a) ; F = 2x4T¢ = 8T#

AfaqSa erery Wy f9EEl...




61.

62.

63.

64.

65.

66.

*67.

68.

*69.

10kg ST @36 IFE ol mwﬁrwﬁmaﬂ 200N/m feig aamqﬁﬁ (FerR @7 9T 2T BT SMTR)
qu_.

() 0.05m (b) 20.0m (c) 2.4m (d) 0.49m
ANYA: (d) ; 10x9.8 = 200x x: x = 0.49m
SRR AT 45° I 6 IGCF FITwel 4 =T T ST ag I

(a) ATS! Sl (b)w’@maﬁm () Aot TweE fomed  (d) ST BwF trEwd
TAIYA: (d) ; tana = - tan 45° = = #R=4H

7kg ST (PIH TEA T4 &7&F 93 I F = 2 — 3] + 6k N, 1 [@I §, | 93 K 990 (57 7976 T gadt g
A7

(a) 1.4 m/s? (b) 1.57 m/s? (c) 1.0 m/s? (d) 7.0 m/s?

Wi(ﬂ);ﬂ=|£‘ '~""f'mim'¢‘i=lms'2

R IEA 11.2 km/s. i 21027 RS 67 AR TR fodt W 932 7 RIS WD o 77 O
CRIE o1t T2

(a) 89.6 km/s (b) 11.2 km/s (c) 22.4 km/s (d) 44.8 km/s

T (c) ; Ve J% V! = E xV, = 2x11.2 = 22.4 km/s

aFZ e '8 I T35 IR MR S 1 ¢ 2. T T 7 wEt o 3T B 2w, iz o naibe Rgfon
SIS T

(a)1:4 (b)1:2 ()2:1 d1:1
FL | &
FAYA: (d) ; Y——I E=:—Y=cusntant[6‘1’ﬁﬂT F,ﬁf_E_YlﬂﬁWtﬂ?ﬁ] ]E‘ l—i:-ﬁicl

W R Gy e 93 S e el faed w9 2 o ST it e @iy -

(a) faad (b) 9F-5dr (c) Brage (d) 992

FAIYIA: (d) ; specific resistance remains the same if the substance is not changed.

0°C SN W6 A @MY 20 G2 @NYE THS! G41F o = 0.004/°C T, 100°C tﬁrﬂmmmafcﬁfﬁﬂ @Y =3-

(a) 1.4 Q (b) 0Q2 (c) 4Q) (d) 2.8Q

TAYA: (d) ; Ry = Ro(1 + at) = 2x(1 + 0.004x100); R, = 2.8Q

2£ A7, M GBT9< TN @3 m (9 & [fE u3f6 A 5 |t S qoits i 391 9| &4e73 33aid O1Fe
T 8 (VF =& - !

a',
() M,m )75 ¢ (c) 5, m (d) M, 5
Y[ (c) ; M depends on m and £. lﬁut m depends on the cross sectional area of magnet, as the CSA is same in both

cases, S0 M remains same. But as the length is half the initial one, so M turns into E [“M—2%xm]

@HW@W@WWEWHH ﬂ*@m%ﬂwvﬂmﬁmmmﬂmmﬁqﬁs
G314 60°7

(a)V=H (b) V=+3H (©)V=H/3 (d) V = v3H/2

AAIYH: (b) : V = H tan60° = V3H

fim cdrem s 5am @M *¥ BT oIS @ FIIE IAFW 110m/s 8 150Hz. e @ 330m/s =61 B

GO TR HATS FF Ad-
(a) 225Hz (b) 200Hz (c) 150Hz (d) 100Hz

ST (a) 5 f = —or X fo = 20 x 150Hz = 225Hz.

330-110




BUET oX51es (o e

70.

71.

12.

*73.

74.

75.

76.

77.

78.

79.

80.

1 g T mm%mﬁwm vrtscsnﬁwmgm ﬂ'ﬁuZEmE@‘mﬁmﬂWm.
(2) 25: 3 (b)9 25 (c) 3:5 (d) 81: 625

a 91z /R aﬁaﬁwcﬁﬁﬁﬁﬁ A,B,C 8 D (S T 5136 51 +q,+q,—q ¢ —q F*F 331 1| T &%

Gﬁmhwmmm-
@ e ) ;- © 5 (d) 0 (zero)

ancg 2 e
W:(d);hécwq—q—q):w

TG S YRF 13 ~ICST MY TR-IEINS 2 7 I 47FG SpF AT @G 60pF T TR-IELS
(ARMIPIEF) &FAFT T T3-

(a) 65 (b) 55 (c) 12 (d) 10
FAA: (c) ; C < K So,K == =12

T (@1 B (S AT [P ©itea S (7 2.9x10~"m T, OF BeAbd Sl 71—

(a) 107*K (b) 10%°C (c) 1074°C (d) 104K
_ m _ b __29x10” .
TR (d) 5 T = 2 = 2220 = 10K

T B St 3T Sitaa Ty gt 5o @3t Saraa F941% £ 93 O Oy A. T ©Itad BN 3@ I 4T Tl R @932
SACHT F1E RO AT IR Bt 7] -

(a)3 (b) (c) 47 (d) 22

Y (d); v = \E 7 \E; f,u = const here - A oc/T EzJT—l 2; A, =2A

G0 I A () 7 wAfae SRS 90 1 Alemre Qe 3?

(a) twice (b) half (c) 4 times (d) % times

A (c) ; Tx VL; L T? . 2% = 4 @I FqCe FA|

G0 *-SF% GF YT TS T JIYICT & 0, *Affos =

(2) Fi1% 8 @ b)FHAFEOSTA MG (c) OFK (W9 8 [ (d) F=I1%, S 14y 8 ot
AAYA: (c) ; [To keep the frequency fixed, the velocity and wavelength change.]

1m W @ 1 mm TR 936 SIad g7 0.05 cm i F91 201 Si6a T 29 9IS [Poisson ratio, ¢ = 0.25]
(2) 1.25%x10™’m (b) 1.25x10"7cm (€) 12.5%107"m (d) 1.25x10""mm

A (a) ; Ad = ox=xD = 0.25x==x 1mm; Ad = 1.25x10~"m
50 km Of (UF 1% o e qinds Sare 1: 2 e fremfeie w2ita SR e SEee xa—

(a)1:9 (b)9:1 (©4:1 (d)1:4

A (d) ;veer? nvpiv, = 1222 = 1:4 |
FHeA Aot Awa @ D Tor? ‘
(a) TV' =C (b) T""'V=C ()TVI-1=¢ d)TV=C |

AAHYE: (c) ; PV' = kand PV = nRT are simplified into TVI1 = k

G35 I8 4cm TSI 701 BFAS ™1 T FAR| STIRE] (RIS FS 709 863 e ¢ e SR 23?2
(a) VZem (b) 2v2em (c) 2cm (d) 1cm

TAYE: (b); Ex = Ep ~ A2 —x* =x* sx= =%= 2v/2cem

s R . 80 ﬁ

==
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BUET SXIeF SoAn o

81.

32.

83.

84.

85.

86.

*37.

88.

89.

90.

ol.

92.

93.

94.

4 ] "
-ﬁ 1 l" ':T-. " :l.'l:
o |14 Ll o TR
a ok | R
: ik el R
) 17 . = M il | ‘t ."‘".
] : b o |

fiRe weae Metse pH sifeTe- Ans: (a)
(a) 3.1 —4.4 (b) 4.2 — 6.3 (c) 6.0 — 7.6 (d) 8.3 — 10.0

1.5atm BTCH Q3R 30°C SI41@ PCls ¥ 15.6% Rifers =11 PCl; Rees Kp @9 TH-

(a) 3.74x10~%atm (b) 1.2x10~2atm (c) 3.0x10 2atm (d) 3.74atm

STAA: (2) ; Kp = x P = 3.7415x102atm

AR W= 672 Ans: (d)
(a) Butadiene (b) Styrene (c) Ethylene (d) Isoprene

ATTIRE AT COfATS (1 I AN A ? Ans: (c)

(a) Adipic acid and Hexamethylenc diamine (b) Ethylene and Phenol

(c) Phenol and Formaldehyde (d) Butadiene and Phenol

G5 ST B9 27T ¢T3 71 WiTe- Ans: (c)

(a) TGO QRS Al 47 @ (b) SE s SFE 49 @

() TR FARTIRA WYy (1 ferat eff i =1ig (d) B G FI A QTSI T
(T CNTeTH MR$Y BT 20TRGA 1T 3d2 4s? G1 GIABE T AEANTS NIGA—

(a) Gr — I1A (b) Gr — IIB (c) Gr — IVA (d) Gr — IVB
HAIYE: (d) ; 2+2=4 and d-block, So Group = IVB

3> ST T R 25% TN 7S 30min 747 w1 | RizFnbr S -

(a) 60 min (b) 95 min (c) 120 min (d) 72 min
T: (d) ;A = 2In (57) = 9.59x10° min™?, Ty = = = 72.28 min

@ e fRfeFativee SIRERAIeE @ Sye TRR o T - |

(a) NHa(g) + HCI(g) = NH,Cl(g) (b) Ca0(s)+ CO,(g) = CaCO4(s)

(c) NH4OH(aq) + HCl(aq) = NH,Cl(aq) + H,0(1) (d) FeO(s) + HCl(aq) = FeCl,(aq) + H,0(1)
HAAYF: (c) ; because OH"and H* are available in the solution.
Which of the following law is not important for ideal gas?

Ans; (b)
(a) Gay-Lussac law (b) Raoult's law (c) Graham's law (d) Avogadro's law
At @ el ST sfsergs Aaiea (AT TEs? Ans; (d)
@c= [ (6) PV = 2KT ©v=[= @PV =2 mnc?
H,SiOF, QTS Si a3 S TH-
(a) 6 (b)4 . (2 (d) 0 (zero)
FTAYE: (b) ; 2+x—2-6 =0 .. x =6 but oxidation number can't be greater than group number ., x = +4
0.6g SIFATSH «ReFIar G0 T M 1.0g Mg & WA 391 11 21t & «ffawid Mg Sfefie Ae?
(2) 0.09g (b) 0.66g (c) 0.25g (d) 0.12g
ST (a) ; rest Mg = (1 — 2=x0.6) g = 0.08875 = 0.09g
7 pH 3.0 7 T2 T TR T JIAFSIE T AN, FT @ S=Z17- Ans: (a)
(a) WDH &I KT A R (b) TBTS NRCGITSTAR “AfFt AFroIFIa ZF7 AT
() TTw 5167 a1 70 A (d) TS Soimie e o o
it @ eifiFmifoa T Br, AT A oret Aneq 73 ? Ans: (b)
(a)3Bry(£) > Br(f)  (0);Bra(@) 2 Br(g)  ();Bra(aq) » Br(aq)  (d) 2Bry(£) - Br(g)
[z BeAmaa #RANTIHAT 1 F0O R(J W< gaseous state F0S ZJ |]
(FRIG 5] &F? o Ans: (d)

(ﬂ) KID. EMZDE' 65102



96. ﬁﬁmwﬁcﬁcﬁa 9Zf0 G mwwmmwﬁma @A mxm%wm?
(2) H/NO, (b) 0;/NO, (c) NO, (d) H;/0,
HAt4i|: (d) ; NO3 > OH™ and K* > H*
~. OH™ and H™ are reserved or dissolved. So H, and O, gas are produced.
[40H™ = 2H,0 + 0, + 4e™; 2H" + 2e™ = H,]
97.  focaa ot “Mmida @S ant R Rl sy @i =1 Sesty za?
(a) Carbohydrate (b) Vitamin (c) Protein (d) Fat
FYA: (d) ; 1glipid < 9 KCal energy.
98. A - B 2N &Y REAE 31 Tibaic Feetaids 2a7?
(a) [A]Vs. Time (b) In[A] Vs. Time (c) 1/[A)*Vs. Time (d) 1/[A]Vs. Time

In[A]

FANYA: (b) ; InfA] = —kt + In[A,] (y = mx + ¢) \

99. TR G &ive YRWIFIE Y7t FR? Ans: (b)
(a) Sugar (f6f) (b) Petrol (CAILGIE) (c) Nylon (<112) (d) Soap (F131¥)
100. MR &F S0 @A Etaa (CoHy) T+ AtEes w97
(2) 2T W30 TR YREFER
(b) 2 76 et Fmr
(c) 37 aifeF+F RiTam gz I
(d) 3 i St C4H, C), wzres ot fog aet otom 1=
ATYF: (b) ; Benzene has no isomers.
101. I QIR ST 43 e FLE 2R SR ?
(a) CIO; (b) PO3- (©S5:08 (d) NO§
FGE: (2); €107 = —1 ~Cl+2(=2)=—1 . Cl=+3 i
102. @Hmaﬁﬂmmwwmwﬂ@ﬁw° | :
(a) AICl; & KOH (b) Sa (NO3), & Na,50, (c) Eu(ND;)z & NaClD4 (d) Pb(C,H;0,), &KI
SYI: (d) ; Pbl, @ G 2% SMTF9 1 Pb(C,H0,), + 2KI — Pbl, + 2CHsCOOK. W
103, @ @ SfER *EE AT Wiers SR T, OitF 34 - . Ans: (2)
QSR Remd @E (b) TEeiws @ (c) TIEAR @18 (d) SR T
104, sp? 9 G 6 FIE (I TEH 5167 FER?
(a) 4 n-bonds (b) 2r-bonds and 2 o-bonds
(c) 1 n-bond and 3o-bonds (d) 4 o-bonds
A (¢) ; o> C =3
105. “if% SR e omieds w1y @ = ?
(a) O (b) ™ (c) O F P (d) irer
AAIYE: (b) ; Critical temp. A9 BT gas, A6 Vapour.
+106. /s 9T T2 T I Foge & @i I7ge =17 Ans: (d)
(a) Aniline yellow (b) Methyl orange (c) Butter yellow (d) Orange-II
107. WW&WWWQ Auxs: (c)
(a) Monoclinic (b) Cubic (c) Rhombohedral (d) Hexagonal
108, °f *[+ S Aus: (¢)
(a) ST &TATA TG SASA i AT (b) BT ATATH ST WA I A
(c) T e 50 = (d)ﬂﬁﬂmﬂ@ﬂﬁtﬁwmw

t




(a) C-C bond (b) C=C bond (c) C=C bond (d) C=0 bond

AYH: (b) ; > C=C < bond and => —CEC—bundﬁﬁﬁgmlbut,W}C=CiﬁWﬁ‘l
Cl )
|

@, A% | ~CH, — CH = C - CH, —

110. WWW@WWWWWW@?
(a) CH30H (b) C¢Hg (c) HCHO (d) CH;COOH

FAY: (a) ; 2CH, + O, 1poaes CH1OH; Again, 2CH, + 0, pree: H CHO + H,0
250°C 500°C

But, option @ CH30H SItst A9 | So, (a) Ans. F12 better.
111, ©f% &ies o @ Q@i Sesy 3= am?

Ans: (d)
I CHy 0
0(Q) 0@ o o
112, 7GR @ Q@i RTerS 93 @b Soiwia? Ans: (a)
(a) CaF, (b) SiF, (c) NaF (d) HF
*113. SHCARIE Mg @ W @16 99 4 W7 Ans: (c)
(a) Ozone (b) Gammexane (c) Freon (d) Trioxane
114. RoE &9 aFiel Si6te %1 307
(a) HCI (b) HF (c) HBr (d) HI
TAAYE: (b) 5 SI;DE + 6HF - H,SiF¢ + 2H,0
Glass
115. FTAFO 4IST A d-SHRABITEE AL R0 fg@wet | e @siiv @ *trmmeiais 23?
(a)2,2,2,2,1 ®)1,1,1,1,1 (c)2,1,1,1,1 (d2,2,1,1,1

HAY: (b) ; Because this pattern contains more unpaired electron than the others.

116. fFom @ syFtRETR «fFmm?

(a) v (b) D (c) O o (d) @

] .. Fe
IT: (d) ; 3CH = CH — &),
117. o2 = G SR (s WitR?
(a) CCl, (b) CH,Cl, (c) C,Cl, (d) C,Cl,
SWY: (b) ; Dipole moment QTHTA Cis G 7@ 1| Wéffe (519 AT Cis F1Y WIS ©ITS D.M WItR | G,

Cl El' - " " -
\c = C{H is a Cis-compound, so it contains D.M. in its structural formula.
u/

118. T @i e IR CtTTTa @ae cei=iepie for 4™ (Tl A7
(a) Br,in water (b) PClc (c)1,(aq) + NaOH(aq) (d) 2,4-Dinitrophenyl hydrazine
HATYI: (c) ; CH; — CO — CH; has CH;CO — part. It shows idodoform reactions
CH5CH,CHO has no CH;CO — part. So, it doesn’t show idodoform reaction.

119. TR @F EsiBa g% JAme @2
(3.) CH3CH20CH2CH3 (b) C4H1n (C) CH3CH'D (d) CEHEDH
HYH: (d) ; Alcohol>Aldehyde>Ether>Alkanes as the decrease of b.p. Alcohol has H-bond internally among the
molecules. So, bp of CoHsOH is the highest (78.3°C).

120. G TS TILIFS CADIRT IH7 LT A7

w0 o | | |
I
(a)—g—ltl- . (b)-C-0 (c)-IIJ-D—-C— (d)—fll—l'r'!—[]—

R s

Ans: (a)




